2008 Iowa Farm Business Management Career Development Event
INDIVIDUAL EXAM KEY
Section A.
Economic Principles
1.
C

2.
B
3.
A

4.
A
5.
B
6.
D
7.
B

8.
A
9.
C
10.
C
11.
C
12.
D
13.
D

14.
C
15.
C

16.
A
17.
A
18.
B
19.
A
20.
D

21.
D
22.
C
23.
A

24.
D
25.
B
Section B.
Records and Analysis
26.
C
Total farm liabilities = total current liabilities + total fixed liabilities


= $370,101 + $703,028



= $1,073,129

27.
B
Percent increase in market value net worth = change in farm net worth (market) 

÷ farm net worth last year (market) 


= ($1,773,163 - $1,646,805)/$1,646,805 x 100



= 7.7%

28.
C
Original cost less depreciation.

29.
A
Debt-to-equity ratio = total farm liabilities ÷ farm net worth 



= $1,073,129 ÷ $1,773,163

= 61%

30.
D
Working capital = total current assets - total current liabilities 

= $542,132 - $370,101

= $172,031
31.
D
Only contractual obligations that are past due appear on the net worth statement 



(according to the Farm Financial Standards Guidelines).
32.
B
Accrued interest = principal borrowed x interest rate x time since the loan was 



taken out


= $100,000 x 6.5% x (61 day/365 days)


= $1,086

33.
B
Return on equity = net farm income ÷ average farm net worth (market)


= $65,259 ÷ ($1,773,163 + $1,646,805)/2


= $65,259 ÷ $1,709,984


= 3.8%

34.
B
Gross farm revenue = total cash income + ending inventory value – beginning 



inventory value


= $631,507 + $567,750 - $575,525



= $623,732

35.
D
Machinery sales would be considered sales of farm capital assets
36.
B
Sales of crops = $336,109
37.
C
Operating loan needed = net cash flow (negative) – beginning cash balance + 



desired ending cash balance


= $42,448 - $16,092 + $2,000



= $28,356

38.
B
Cash rent payments are $50,000 in March –April and $50,000 in November-



December.
39.
B
Net cash flow is projected to be $47,850 in May-June.  
40.
D
Any of these actions would improve net cash flow in January-February.  
41.
D
Cash gross farm income = livestock income + crop sales + USDA payments 

+ other

= $469,260 + $336,109 + $18,000 + $6,000

= $829,369

42.
C
Principal payments on a loan are a cash outflow but not an expense.   

43.
B
An operating loan will be needed in Jan.-Feb., Mar.-Apr., Jul.-Aug. and Sept.-



Oct. to eliminate negative ending cash balance.
44.
A
Projected new terms to receive are $20,000 in May-June. 

45.
C
Profit per cow = gross income – total of all costs

= $4,458.90 - $4,237.51

= $221.39
46.
B
Breakeven milk price = (total of all costs – nonmilk revenue) ÷ cwt. Of milk sold


= ($4,237.51 - $315.90 - $156.00 - $147.00) ÷ 240 cwt.



= $3,618.61 ÷ 240



= $15.08 per cwt.

47.
A
Breakeven level of milk production = (total of all costs – nonmilk revenue) 

÷ expected milk sale price


= ($4,237.51 - $315.90 - $156.00 - $147.00) ÷ $16.00 per cwt.



= $3,618.61 ÷ $16



= 226 cwt.

48.
D
Feed cost per cwt. = total feed costs ÷ cwt. milk sold


= $1,809.55 ÷ 240 cwt.



= $7.54 per cwt.

49.
A
Change in profit per cow = change in price of corn x corn equivalents fed


= ($5.00 - $4.00) x 113 bu.



= $113 decrease

50.
A
Number of years in production = 1 ÷ cull cow rate 



= 1 ÷ .39



= 2.56 years 
51.
C
Pounds of feed per pound of milk produced



= [(133 bu. x 56 lb.) + (8 tons x 2,000 lb.) + (6 tons x 2,000 lb.)



+ 323 lb. + 1,855 lb. + 1,361 lb. + 111 lb.] ÷ 24,000 lb. milk



= 37,978 lb. feed ÷ 24,000 lb. milk



= 1.58 lb. feed per lb. milk

52.
B
Present value = sum of annual net cash flows discounted.



= $500 + $500/1.10 + $500/1.102 + $500/1.103


= $500 + 455 + 413 + 376



= $1,744

53.
C
Average depreciation expense = (initial cost – salvage value) ÷ useful life



= ($120,000 - $30,000) ÷ 30 years



= $90,000 ÷ 30 = $3,000

54.
C
Average annual interest cost = average value x cost of capital 



= [($120,000 + $30,000) ÷ 2] x 7%



= $75,000 x 7%



= $5,250
Section C.
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